Geometry CC - Name: LE\(

16.1-16.2 Quiz Review Date: Period:
Find the zeros of each function by using a graph and table.
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Find the zeros of each function by factoring:
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Find the roots of each equation using factoring: 3x~5 =0 —|Xx= 3/3
7. x2=10x+25=0 8. 7x=15-2x2
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9. Write a quadratic function in standard form with zeros 6 and -1.

K= X=-1

(x\y* ) x M D) -

KX ~loXx — o —» | X*=-5 X% ~¢, |

10. Complete the square for the expression x2 - 15x + /l Write the resulting expression as a

binomial squared (factor). (‘5/7.\/\ = (X‘—\S/ »‘2_

Solve the equation by completing the square:

11,5 - 165+ 64 = 20 12, x- 77 = 4x 13. 3%+ 6x-1=0
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Write each functlou in vertex form and identify its vertex: \A = (x - h\tﬂi’- | =
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